AP Calculus Ch. 4 Test Review WS 2 (Non-Calculator)
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11.If a(t) = 12t* + 18t — 4 and x(1) = 3 and v(-1) =9, find the below:

a) Find the specific function for v(t)

b) Find the specific function for x(t)

12. The graph of f below consists of a semicircle, triangles, and squares. Find the average value
of fon the interval [-2, 5]
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a) Find the specific function for v(t) b) Find the specific fur}ction for x(t)
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12. The graph of f below consists of a semicircle, triangles, and squares. Find the average value

of fon the interval [-2, 5]
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